
ALGEBRA
Exponents and Radicals

Factoring Formulas
does not factor over real numbers

Binomials

Binomial Theorem

Quadratic Formula

The solutions of are 
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Equations of Lines and Circles
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Addition Formulas

tan 1a + b2 =

tan a + tan b

1 - tan a tan b

cos 1a + b2 = cos a cos b - sin a sin b

sin 1a + b2 = sin a cos b + cos a sin b

TRIGONOMETRY
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y Reciprocal Identities

Pythagorean Identities

Sign Identities

cot 1-u2 = -cot usec 1-u2 = sec ucsc 1-u2 = -csc u

tan 1-u2 = - tan ucos 1-u2 = cos usin 1-u2 = -sin u

sin2 u + cos2 u = 1 tan2 u + 1 = sec2 u 1 + cot2 u = csc2 u

tan u =

sin u

cos u
 cot u =

cos u

sin u
 sec u =

1

cos u
 csc u =

1

sin u

tan 1a - b2 =

tan a - tan b

1 + tan a tan b

cos 1a - b2 = cos a cos b + sin a sin b

sin 1a - b2 = sin a cos b - cos a sin b

Double-Angle Identities

= 1 - 2 sin2 utan 2u =

2 tan u

1 - tan2 u

= 2 cos2 u - 1

cos 2u = cos2 u - sin2 usin 2u = 2 sin u cos u
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is ( q, q).

Half-Angle Formulas

sin2 u =

1 - cos 2u
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Graphs of Trigonometric Functions and Their Inverses
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